Problem 1

|
Inspired by page 32 #71

Profit/Cost/Revenue Models
C(x) =93-x+35000
R(x) =135-x
Tasks
1) Plotthe linear system related to this particular scenario
2) Determine the point of intersection using paper and pencil methods
3) Confirm point of intersection using technology
Graphing calculator, advanced scientific calculators, Geogebra, Desmos

4) Ifx corresponds tonumber of MP3 players sold in aweek, C(x) refers tothe cost of
producing x MP3players, and R(x) equals therevenue generated from selling x MP3
players, then determine a P(x) function thatmodels this company's profits

5) Stateand describe the following points for each ofthe functions
5a) y intercepts of the functions
5b) x intercepts of the functions
5¢) point ofintersection ofthe R(x) and C(x) functions
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Describe the behavior of each of the
following models over the given intervals.

Support the description with the provided
graphs of the models

What is this company's status for values of x
that lie within [0, 500 ]?

Be specific and mention functions by name
C(x), R(x), and P(x)
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Describe the behavior of each of the 3.408+0 ¥

following models over the given intervals.

Support the description with the provided
graphs of the models

What is this company's status for values of x
that lie within [ 500 , 1000 ]?

Be specific and mention functions by name (1000 135000)
C(x), R(x), and P(x) ’
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Describe the behavior of each of the
following models over the given intervals.

Support the description with the provided
graphs of the models

What is this company's status for values of
x thatare greater than 1000 ?

Be specific and mention functions by name
C(x), R(x), and P(x)
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